* BNEIFRME B or FAEREE A
* A~ B EF BN OEERYMAH

20224 MR a—)L OT

5H 6H 7H 8H 9H 10A 118 124 18 2A
1B 1 7k 1 & 1A 1K 1+ 1K 1K 1B K 19K
2R 2 K 2t 2k A 2 & 2 B RHE MR RBEE| 2 K HA—t2E 28 2 B 2K ey
3k S 3 B BRBTAR 3 %k 3t 3R 3k 3t 3k 1e EREBHR)
45K 4+ 4 R 4 K HR—+2E 4 B HEEERE:ERE 4 K YR—bEE 4 & BREHBNE 4 B BEEER. 7Ry | 4K 4t
5 K 5 H RAEME-BEER | 5K 5% 5A 5 K 5t 58 5 K 5 B RAERATAH
3 6 A 6 7k EBHENRE 6+ 6 K 6 K BEHBRAE 6 B AR(UR—LEE) | 6 X BEEHBETMRE 6 & 6 A
7t 7K 7K 7 B ADL(1) 7K EREESRE 1& 7R 7K 7t 7K £4E7
8 B 8 K HEMUENE 8 & BEMEEE 8 A 8 K 8+ 8 % 8 K 8 B AMEMERRER gk ERBBHER)
9 A 9 K 9+ 9 K 9 & BEMKREKE 9 B AREZ EHFA) | 9 K REEE 9% 9 A 9 K
10 K 10 & BAMBEE 10 B ﬁ*"“ﬁ%ﬁﬁﬁE# 10 7k T 10+ 10 B 10K RETVIBEE | 4 10 % 10 %
11 K 1t 1A 1ok RETVIREE | g pewmsmn 1K HR—r2E - 11 B R K prps~syppges | 11 T
12 & 2B SHBE®E 12k LI ne 12 8 12 % 12+ 128 124 RESEEO) ) 5 EaEmsms
13 % 13 A 13 7k 13 £ 13 X 13 K IRHERBR % 3R 13 B FEhE 13 X 13 & 13 8
14 £ 14 K ERPEHRE 14 R HR—+2E 14 B ADL(2) 14 K ERMERE 14 & 14 A 14 K {EEBIETMEE| 14 £ 14 K
15 B AYI>T—>3av | 15 K 15 & 15 A 15 K 15 £ 15 K 15 K 15 B RHARHNTAE 15 7K £4ERI
16 8 RATRNERA) | 16 K BEMEEE 16 + 16 % 16 & BEMKEE 160 EREZEDF) | 16K  agmm | 6% 16 A 16 4 PR
17 K 17 & 17 8 ﬁ?}fﬁfﬁgﬁ? 17 5k T 17+ 17 B 17K RETVIEEE |, 4 17 K 17 &
18 % 18 £ 18 A 18k RETYIREE |5 5 mmmomms |18k ok—rrE 18 & 18 B fFRAGAREE | 18K mapgosmpns | 6 T MEHEE
19 K 19 B Eﬁﬁz@ﬁgﬁﬁ@fi 19 K M%gﬁgﬁﬁ 19 & 19 A 19 K 19 £ 19 A 19k RESEMR |5 meaen
20 & 20 A 20 %k 20 + 20 K ERBERE 20 K BERBNE 20 0 NSRS 20 % 20 & 2 A
21 £ 21 K HEHERE 21 K HR—bEE 21 B REEBTRE 21 K 21 & 21 A 21 K JFEEHBETMEE| 21 £ 21 K
22 B RIRAER (ERE) | 22 K 2% 22 A 22 K BEMKEEE 22 £ 22 K 22 K 22 B BRERIDIE 22 7k
23 A 23 K BERMBE 23 + 23 X 23 % 23 B ER 23 5k RHS 23 & 23 B 23 K
24 % 2 & 24 B NEEFRE 24 % HHE 24 + 2 B 2k WETVIHEE | ) ¢ 24 % 2% &
25k EREERE 25 £ 25 A 25 Kk RETYIREE | o5 0 prig (4 R—LEE) | 25 k HH—r2E %% 25 B ffsAS 25K mapg~smpE | 25 ©
26 A 26 B UNEUF—Saviik | 26 K M%gﬁgﬁﬁ 2 & 2 A 26 7K 26 2 A 26 £ RESHMEG | g
27 & BEMWEE 27 A 27 K 27 £ 27 R ERBESRE 21 K BEEHBRAE 27 B WREHER. FRE| 27 K 21 & 27 A
28 £ 28 X 28 K HR—hEE 28 H R (HR—F2E) | 28 K 28 & 28 A 28 K BEEMHETHMEE| 28 = 28 K
20 8 GEEES 29 %k 2% 2 A 29 K BERIBEE 29 + 20 % 29 K 20 B SER{EEIAER
30 A 30 & 30 + 30 X 30 & 30 B WETRE 30 7k 30 & 30 A
31 K 31 B NRE 31 K 31 A 3+ 31 &




